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Time : 3Hrs. Sem -V-Mech (Auto)  

Adv. Auto. Engine.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Discuss in brief various types of combustion 

chambers for automotive diesel engines.

 

Explain with neat sketch the construction of 

electronically controlled diesel injection pump.

What do you mean by injection pump timing ? 

Describe in brief.

8.

6

OR

OR

P.T.O
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

OR

Maximum combustion pressure in a car 

petrol engine is about.

(a) 6 KPa

(b) 60 KPa

(c) 6 MPa

(d) 60 MPa

Doubling the cylinder diameter of an engine 

could give power output, which is ............... 

times the original value.

(a) 2

(b) 3

(c) 4

(d) 8

6.
4

Explain European emission standards in brief.

Describe in brief the positive crank case ventilation 
(PCV) system.
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                 GROUP  - C

6 x 5 = 30
Answer all Five Questions.

Describe in brief various types of fuels for 
automotive engines. Give specific examples in 
each case.6 

7.
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(iii)

(iii)

(iv)

(ii)

OR

OR

5.

4

(a) 45 J/kg

(b) 45 KJ/kg

(c) 45 MJ/kg

(d) 45 GJ/kg

(a) 0

(b) 10

(c) 80

(d) 100

Write brief note on cetane number of fuel.

injection (CRDI) system?

technology ? Explain in brief.

What are differences between Euro 3 and Euro 4 

engines ?
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2.

(iv)

(v)

(v)

(vi)

OR

OR

One effect of detonation is

(a) Delay in ignition

(b) Interruption in lubrication

(c)  Loss of power

(d)  Deterioration in the quality of air-fuel 

       mixture

fuel is given by.

(a) Detonation

(b)  Octane number

(c)  Pre-ignition

(d) Cetane number

4
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4

3.
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Answer all Five Questions.
4 x 5 = 20

What is petrol ? Discuss its properties.

Describe in brief the phenomenon of combustion in 

spark ignition engine.

Describe briefly the various theories of detonation.
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(vii)

(vii)

(viii)

(vi)(xx)

(xx)

Apart from hydrocarbons, the main pollutants 
in the engine exhaust are.
(a) CO and CO2

(b) CO  and NOx2

(c) CO and NOx

(d) CO  and H O2 2

The maximum allowable hydrocarbons in the 
car emission are approximately.
(a) 10 ppm
(b) 100 ppm
(c) 1000 ppm
(d) 5000 ppm

.................. is collected during engine start 

up time, when the catalytic converter is cold, 

and then later on released back into exhaust 

flow when the converter is hot.

(a) HC

(b) CO

(c) CO2

(d) H O2

1633502
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(viii)

(ix)

(ix)

In a diesel engine, the fuel is ignited by .
(a) Spark
(b) Injected fuel
(c) Heat resulting from compressed air in 
      cylinder
(d) None of the above

the corresponding air standard cycle efficiency 
is called
(a) Thermal efficiency
(b) Efficiency ratio
(c) Relative efficiency
(d) None of these

HC and CO is.

(a) Copper

(b) Charcoal

(c) Radium

(d) Platinum

1633502

(xviii)

(xviii)

(xix)

(xix)
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operation of a three-way converter is 
approximately.
(a) 5 : 1
(b) 10 : 1
(c) 15 : 1
(d) 20 : 1

.................... is sprayed into the combustion 
chamber in a finely atomized particles.
(a) Air
(b) Fuel (Diesel)
(c) Water
(d) None of these

If one or more nozzles are not spraying 
correctly, then .................... occurs.
(a) Dripping
(b) Misfiring
(c) Cold firing
(d) None of the above

engine is ................... that of compression 
ignition engine
(a) More than
(b) Less than
(c) Equal to
(d) None of the above

(x)

(xi)

(x)
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(xvi)

(xvii)
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(a) Port injection

(b) Throttle body injection

(c) Both (a) and (b)

(d) None of the above

(a) Proper injection timing

(b) Proper injection quantity

(c) Proper injection pressure

(d) All of the above

orifice under high pressure.
(a) Vacuum
(b) Atomization
(c) Carburation
(d)  None of the above

cost is .........
(a) Low
(b) High
(c) (a) and (b) both
(d) None of the above

(xiv)

(xiv)

(xv)

(xiii)

(xii)

(xii)

(xiii)

1633502
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OR

(i) Spark advance control

(ii) Idle speed control 

(iii) Fuel injection control

system ? Explain in brief.

9.

10.

6

6

P.T.O

OR

(i) Spark advance control

(ii) Idle speed control 

(iii) Fuel injection control

system ? Explain in brief.

9.

10.

6

6

P.T.O
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(i) Bharat stage 4

(ii) Euro 4

Describe in brief.

OR

OR

11.

***

6

(i) Bharat stage 4

(ii) Euro 4

Describe in brief.

OR

OR

11.

***

6
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